EaAE HAE ORI0| Y

=5 4Y/HIE o[0ix|

© HEINRICH KIPP WERK GmbH & Co. KG

49

HIZ M9

23 BEE 5 Eof o3t B3 2Ix/Q)
#73S WISHoF sHE Roll AR E.

P BEE $502 E £ OE &2
%2 015 + U

27 Alzt 224 9T &2 EO| ChA| FIE
22 wx|st7| SIsiAlE EHel C EE DS

o|&atiof &.

THE:

2B HT:

LIAME &2[E U 23 2 24,
A= AT 1.4310.

AHIQIZ|IA AR B A2:

LIA} &£2]E 1.4305.
2 El Z3l 1.4034.

= Elo| AetElX| 2fS 1.4305.

ot= Axm2l1.4310.

AEQIE|A AE!I ™ A4:

LIAF &2/ & &2 El 1.4404.

o= A2l 14401 EE= 1.4571.

HAIE O Witad E3|M £ AlS S WZ A4 RAL3020.
EM O]

2B HT:

LIAF £2E, AE &HSER{EI.
= E, 43, ook, a2l - sl

AE|QIB|A AE! M, A1:
LEAF 222, 2ZE 2.

&3 B, Bs U odof, 2 x2)
&3 ©, 228 U olnt, 2 2

&3 E, o0k Wate LW =3
&3 E, ook, 2 x|

HAIS O3] AX 5| M RAL7021 EE= E T wh7HAE RAL3020.

EH MY,

EFQA: ZE &2 U3, ¥2 HE QIS
e1elB: &2 &% 918, &3 1E S
ElQlC: &2 &% 2, 2 HE QI8
eHolD: &3 2% US, &3 UE s

www.kipp.com - info@kipp.com

1/12



@
@
@
©

D2 D2
| |
[ }
! : Sl I I & ' SWi
S ] 3
i ] -~
el S0 3
\ : . o
@ SWw2 s
i SW2
D3z D45 |
D1 L__|Df
Z= Q0
Fz2Hs E  2x XA A EH THE AA D D1 D2 L L1L2L3 2E SW1SW2 Fx A[E EbY
2l g7 71 a3A 23 30° EtMd B2
S F1 F2
OF_ N OF N
K0338.1903 A AE - 4st Z3[M RAL 7021 3 M6x0,751431,512510 35 8 - 08 45 10
K0338.1004 A AE - Z#st Z3|M RAL7021 4 M8x1 1838515613 4 10 - 1 6 12
K0338.1105 A AEl - a5t H3|M RAL7021 5 M10x1 2143517715 5 13 - 1,3 5 12
K0338.1206 A AE - a3t Z3|M RAL 7021 6 M12x1,52551,720817 6 14 - 18 6 14
K0338.1308 A AE - PEE= 43| RAL 7021 8 M16x1,533 68 261023 8 19 - 23 15 35
K0338.1410 A AE - ast 43| RAL 7021 10M20x1,533 74 281225 10 22 - 28 15 34
K0338.1412 A AR - PEL 3| RAL 7021 12M20x1,533 78 281425 12 22 - 28 15 39
K0338.1516 A A& - Z#st ZS|M RAL 7021 16 M24x2 40 96 321828 16 27 - 32 20 46
K0338.190384 A AE - ast AMEE w 3 M6x0,751431,512510 35 8 - 08 45 10
ZH RAL 3020
K0338.100484 A AEl - ast AMESE 4 M8x1 1838,515613 4 10 - 1 6 12
Z RAL 3020
K0338.110584 A AE - 73t M5 w 5 M10x1 2143517715 5 13 - 13 5 12
Z RAL 3020
K0338.120684 A AE - Z#st MSE w 6 M12x1,52551,7208 17 6 14 - 18 6 14
Z RAL 3020
K0338.130884 A AE - PEL pME S w 8 M16x1,533 68 261023 8 19 - 23 15 35
ZH RAL 3020
K0338.141084 A AE - Ast M5 w 10M20x1,533 74 281225 10 22 - 2,8 15 34
ZH RAL 3020
K0338.141284 A AE - Ast pMEE 12M20x1,533 78 281425 12 22 - 28 15 39
ZH RAL 3020
K0338.151684 A AEl - a5t AMESE w 16 M24x2 40 96 321828 16 27 - 3,2 20 46
Z+ RAL 3020
K0338.01903 A AH|Ql 1.4034 a3t 3| RAL 7021 3 M6x0,751431,512510 35 8 - 08 45 10
gilA AE]
K0338.01004 A PNz 1.4034 A&t 45| RAL7021 4 M8x1 1838515613 4 10 - 1 6 12
flA AR
K0338.01105 A AHQI 1.4034 ast ZS|M RAL7021 5 M10x1 2143,517715 5 13 - 1,3 5 12
tA AE
K0338.01206 A EN= 1.4034 a3t 3| RAL 7021 6 M12x1,52551,720817 6 14 - 18 6 14
tA AE
K0338.01308 A AHQ! 1.4034 ast 43| RAL 7021 8 M16x1,533 68 261023 8 19 - 23 15 35
A AE
K0338.01410 A AH|Ql 1.4034 a5t Z43|M RAL 7021  10M20x1,533 74 281225 10 22 - 28 15 34
Bla A
K0338.01412 A AE|Q! 1.4034 Ast HE|M RAL 7021 12M20x1,533 78 281425 12 22 - 28 15 39
A AE

© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com  2/12



= S Ool= El =SS C =
ZCIAE HAIE T80 = AE =2 AH|QlgA olHA Z81K
Z= 29
z2Hs E 22X ME A EH A AL D D1 D2 L L1L2L3 2E SW1SW2 Fx Al Ebd
&l g7 78 = 23 30° EtY B
S F1 F2
ok N 2N
K0338.01516 A AE0] 1.4034 EED ZA3[M RAL 7021 16 M24x2 40 96 321828 16 27 32 20 46
BlA AE
K0338.0190384 A A2l 1.4034 z3t M E w 3 M6x0,751431,512510 3,5 8 08 45 10
BlA AE Z RAL 3020
K0338.0100484 A AEQl 1.4034 A&t M E 4 M8x1 1838515613 4 10 1 6 12
A AE Z RAL 3020
K0338.0110584 A AE|Q! 1.4034 Qs AEE w 5 M10x1 2143517715 5 13 1,3 5 12
BlA AE ZH RAL 3020
K0338.0120684 A EN=e 1.4034  ZAst X 6 M12x1,52551,7208 17 6 14 1,8 6 14
BlA AE Z+ RAL 3020
K0338.0130884 A ENZT 1.4034  As AESE W 8 M16x1,533 68 261023 8 19 2,3 15 35
BlA AE Zt RAL 3020
K0338.0141084 A ENCT 14034 733 AES w 10M20x1,533 74 281225 10 22 2,8 15 34
BlA AE Z+ RAL 3020
K0338.0141284 A EN= e 1.4034 z3t AME S wh 12M20x1,533 78 281425 12 22 2,8 15 39
glA AE Z RAL 3020
K0338.0151684 A AE|Ql 1.4034 PEE A5 w 16 M24x2 40 96 321828 16 27 32 20 46
BlA AE Z RAL 3020
K0338.11903 A AE|Ql 1.4305 H|ZHE 3|4 RAL 7021 3 M6x0,751431,512510 35 8 0,8 45 10
tA AE
K0338.11004 A AH|Ql 1.4305 HIZSF Z3|M RAL7021 4 M8x1 1838,515613 4 10 1 6 12
tA AE
K0338.11105 A AE|Q 1.4305 HIZS ZA3|M RAL7021 5 M10x1 2143517715 5 13 1,3 5 12
A AE
K0338.11206 A AE|Q 1.4305 HIZS Z43|M RAL 7021 6 M12x1,52551,7208 17 6 14 1,8 6 14
gla AR
K0338.11308 A EN = 14305 H|ZEst ZH3|M RAL 7021 8 M16x1,533 68 261023 8 19 2,3 15 35
BlA AE
K0338.11410 A fEﬂO._I | 14305 HIZSE 5| RAL 7021 10M20x1,533 74 281225 10 22 2,8 15 34
BlA AE
K0338.11412 A |¢E+|°_I | 1.4305 H|ZE 3| RAL 7021  12M20x1,533 78 281425 12 22 2,8 15 39
BlA AR
K0338.11516 A AH|Ql 1.4305 HIZF Z3|AM RAL 7021 16 M24x2 40 96 321828 16 27 3,2 20 46
tA AE
K0338.1190384 A AE|Q! 1.4305 HIZE AESE W 3 M6x0,751431,512510 35 8 08 45 10
BlA AE Z+ RAL 3020
K0338.1100484 A AE|Q 1.4305 HIZS AES w 4 M8x1 1838515613 4 10 1 6 12
BlA AE Zt RAL 3020
K0338.1110584 A AE|el 1.4305 HIZS MES w 5 M10x1 2143517715 5 13 1,3 5 12
BlA AE ZH RAL 3020
K0338.1120684 A AHE|Q 1.4305 H|ZE A5 w 6 M12x1,52551,7208 17 6 14 1,8 6 14
BlA AE Z RAL 3020
K0338.1130884 A EN=T 1.4305 H|ZE AEE w 8 M16x1,533 68 261023 8 19 2,3 15 35
A AE Z RAL 3020
K0338.1141084 A AE|Q! 1.4305 HIZS AE 5 w 10M20x1,533 74 281225 10 22 2,8 15 34
BA AE ZH RAL 3020
K0338.1141284 A EN= 1.4305 HIZE X 12M20x1,533 78 281425 12 22 2,8 15 39
BlA AE Z+ RAL 3020
K0338.1151684 A ENZe 1.4305 HIZE AEE W 16 M24x2 40 96 321828 16 27 32 20 46
BlA AE Zt RAL 3020
K0338.61903 A ENCT 14404 LA Z ZA3|M RAL 7021 3 M6x0,751431,512510 35 8 0,8 3 6,5
A AE glolE
K0338.61004 A ESC 14404 LIHZ ZA3|M RAL7021 4 M8x1 1838515613 4 10 1 7 15,5
HA AE go|E
K0338.61105 A AE|Ql 14404 LIHZ ZA3|M RAL7021 5 M10x1 2143517715 5 13 1,3 4 12,5
BlA AE golE
K0338.61206 A EN= 14404 LA EZ A3/ RAL 7021 6 M12x1,52551,720817 6 14 1,8 7 14,5
oA AE! do|E
K0338.61308 A EN=e 14404 LA EZ 3|4 RAL 7021 8 M16x1,533 68 261023 8 19 2,3 15 35
tilA AE! dlo|E
K0338.61410 A ENZe 14404 LA EZ ZA3|AM RAL 7021  10M20x1,533 74 281225 10 22 2,8 15 30
Bla AR glolE
K0338.61412 A fEﬂO._I | 1.4404 IE!H;%% 3|4 RAL 7021 12M20x1,533 78 281425 12 22 2,8 15 39
A AEl o|E
© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com  3/12



=ZalAEI] A3 Ool= AElI =SS AFIIO A ClIA =
ZCIAE HAIE T80 = AE =2 AH|QlgA olHA Z81K
Z= 29
z2Hs E 22X ME A EH A AL D D1 D2 L L1L2L3 2E SW1SW2 Fx Al Ebd
&l g7 78 = 23 30° EtY B
S F1 F2
ok N 2N
K0338.61516 A AE0] 14404 LA Z ZH3[M RAL 7021 16 M24x2 40 96 321828 16 27 - 32 20 40
BlA AE glo|E
K0338.6190384 A ESC 14404 LA E AMESE W 3 M6x0,751431,512510 35 8 - 08 3 6,5
Bla AR glo|E Z RAL 3020
K0338.6100484 A EN= 1.4404 L2 EZ AEE5 w 4 M8x1 1838515613 4 10 - 1 7 15,5
Bla AR glo|E Z RAL 3020
K0338.6110584 A EN= 14404 LA E AEE w 5 M10x1 2143517715 5 13 - 1,3 4 12,5
BlA AEl glolE ZH RAL 3020
K0338.6120684 A EN=e 14404 LA E X 6 M12x1,52551,7208 17 6 14 - 18 7 14,5
A AR glo|E Z RAL 3020
K0338.6130884 A ENZT 14404 L2 E A5 w 8 M16x1,533 68 261023 8 19 - 23 15 35
A AE glolE Z+ RAL 3020
K0338.6141084 A A2l 14404 LUZE pME S w 10M20x1,533 74 281225 10 22 - 28 15 30
Bla AR tlolE Z+ RAL 3020
K0338.6141284 A EN=d 1.4404 LA = AMSE w 12M20x1,533 78 281425 12 22 - 28 15 39
BlA AEl #lolE Z RAL 3020
K0338.6151684 A AE|Ql 14404 LA E MSE w 16 M24x2 40 96 321828 16 27 - 32 20 40
BlA AE #lolE Z RAL 3020
K0338.71903 A EN= 1.4404  Xtoix 43| RAL 7021 3 M6x0,751431,512510 35 8 - 08 3 6,5
oA AE! ot 2|
K0338.71004 A EN= 1.4404 XX Z3|M RAL7021 4 M8x1 1838515613 4 10 - 1 7 15,5
oA AE! ot 2|
K0338.71105 A ENZ 1.4404  Xtoix] Z3|M RAL 7021 5 M10x1 2143517715 5 13 - 1,3 4 12,5
oA AE! ot 2|
K0338.71206 A AH|Ql 1.4404  K}Oi% Z43|M RAL 7021 6 M12x1,52551,7208 17 6 14 - 18 7 14,5
BlA AEl otF 2l
K0338.71308 A EN = 1.4404  RpoiH ZH3|M RAL 7021 8 M16x1,533 68 261023 8 19 - 23 15 35
BlA AE ot 2|
K0338.71410 A ENC 1.4404  Xtoix 5| RAL 7021 10M20x1,533 74 281225 10 22 - 28 15 30
& AE] otF 2|
K0338.71412 A EN= 1.4404  RpQI%] 3| RAL 7021 12M20x1,533 78 281425 12 22 - 28 15 39
tilA AE] ot 2|
K0338.71516 A EN= 1.4404  Xtoix 3| RAL 7021 16 M24x2 40 96 321828 16 27 - 32 20 40
tilA AE! ot 2|
K0338.7190384 A AE|Q! 1.4404  Xtoix A5 w 3 M6x0,751431,512510 35 8 - 0,8 3 6,5
A AE o2 ZH RAL 3020
K0338.7100484 A ENCT 1.4404  X}oix AEE W 4 M8x1 1838515613 4 10 - 1 7 15,5
Bla AE oFE 2 Zt RAL 3020
K0338.7110584 A AH|Ql 1.4404  K}Oi%] AMESE 5 M10x1 2143,517715 5 13 - 1,3 4 12,5
BlA A oFF 2 ZH RAL 3020
K0338.7120684 A ESC 1.4404  X}oiX AMESE w 6 M12x1,52551,7208 17 6 14 - 18 7 14,5
Bla A oFF 2l Z RAL 3020
K0338.7130884 A EN= 1.4404  RpQI%] AEE w 8 M16x1,533 68 261023 8 19 - 23 15 35
Bla A o= 2| Z RAL 3020
K0338.7141084 A EN= 1.4404  Xtoix AEE w 10M20x1,533 74 281225 10 22 - 2,8 15 30
gla AE ot 2l ZH RAL 3020
K0338.7141284 A EN= 1.4404  Xtoix] X 12M20x1,533 78 281425 12 22 - 2,8 15 39
Bla AE o=l ZH RAL 3020
K0338.7151684 A ENZe 1.4404  Xtoix] A S w 16 M24x2 40 96 321828 16 27 - 32 20 40
A A oHF 2| Z RAL 3020
K0338.2903 B AEl - 235t Z43|M RAL 7021 3 M6x0,751431,512510 35 8 10 08 45 10
K0338.2004 B A8 - ast Z3|M RAL7021 4 M8x1 1838515613 4 10 13 1 6 12
K0338.2105 B AE - PEL H3|M RAL 7021 5 M10x1 2143517715 5 13 17 1,3 5 12
K0338.2206 B AEl - A3t Z43|M RAL 7021 6 M12x1,52551,7208 17 6 14 19 1,8 6 14
K0338.2308 B AR - ast 43| RAL 7021 8 M16x1,533 68 261023 8 19 24 23 15 35
K0338.2410 B AEl - Z#st Z43|M RAL 7021 10M20x1,533 74 281225 10 22 30 28 15 34
K0338.2412 B AEl - A3t 43| M RAL 7021  12M20x1,533 78 281425 12 22 30 28 15 39
K0338.2516 B AE - a3t 3| RAL 7021 16 M24x2 40 96 321828 16 27 36 32 20 46
K0338.290384 B AEl - A3t MSE w 3 M6x0,751431,512510 35 8 10 0,8 45 10
Z RAL 3020
K0338.200484 B A& - PEE AEE w 4 M8x1 1838,515613 4 10 13 1 6 12
Z RAL 3020
K0338.210584 B AE - ast AEE w 5 M10x1 2143517715 5 13 17 1,3 5 12
Z RAL 3020
© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com  4/12



=ZalAEI] A Ol=— AEISS A o|HlA =
ZolAE HAE 8l = AE =2 AH| IiA Z81K
Z= 29
FEBS Ef EAMY A EH THE MY D2 L L1L2L3 AE SW1SW2 Fx A[E &4
&l B 7 7|8 = 23 30° Bty B=
S F1 F2
ok N 2N
K0338.220684 B AEl - ast AMSE 6 M12x1,52551,7208 17 6 14 19 1,8 6 14
ZH RAL 3020
K0338.230884 B £AEl - Z#st AMESE W 8 M16x1,533 68 261023 8 19 24 23 15 35
Z RAL 3020
K0338.241084 B A&l - PEET AEE5 w 10M20x1,533 74 281225 10 22 30 28 15 34
Z RAL 3020
K0338.241284 B AE - Ast AEE w 12M20x1,533 78 281425 12 22 30 2,8 15 39
ZH RAL 3020
K0338.251684 B A8 - Ast AES 16 M24x2 40 96 321828 16 27 36 3,2 20 46
Zt RAL 3020
K0338.02903 B ENZT 14034 73 43| RAL 7021 3 M6x0,751431,512510 35 8 10 0,8 45 10
BlA AEl
K0338.02004 B EN=e 14034  4As 3|44 RAL 7021 1838,5156 13 4 10 13 1 6 12
Bla AR
K0338.02105 B AH|Q! 1.4034 P ZA3|M RAL7021 5 M10x1 2143517715 5 13 17 1,3 5 12
gilA AE]
K0338.02206 B EN= 1.4034 PEE Z3|M RAL 7021 6 M12x1,52551,720817 6 14 19 1,8 6 14
flA A
K0338.02308 B EN= 1.4034 A3 43| RAL 7021 8 M16x1,533 68 261023 8 19 24 23 15 35
tA AE
K0338.02410 B EN= 1.4034 7@ 43| RAL 7021 10M20x1,533 74 281225 10 22 30 28 15 34
tA AE
K0338.02412 B ENZ 14034 73 43| RAL 7021  12M20x1,533 78 281425 12 22 30 28 15 39
A AR
K0338.02516 B ENCT 1.4034 73 Z3|M RAL 7021 16 M24x2 40 96 321828 16 27 36 32 20 46
gla AR
K0338.0290384 B EN = 1.4034 PEL S5 w 3 M6x0,751431,512510 3,5 8 10 08 45 10
BlA AE ZH RAL 3020
K0338.0200484 B AE|Ql 1.4034 23t MSE w 1838,5156 13 4 10 13 1 6 12
BlA AE Z RAL 3020
K0338.0210584 B ENC 1.4034 PEET AEE w 5 M10x1 2143517715 5 13 17 1,3 5 12
BlA AEl Z RAL 3020
K0338.0220684 B AE|Ql 1.4034 7@ AEE w 6 M12x1,52551,7208 17 6 14 19 1,8 6 14
BlA AEl ZH RAL 3020
K0338.0230884 B AE|Q! 1.4034  ZAs A5 w 8 M16x1,533 68 261023 8 19 24 23 15 35
A AEl Z+ RAL 3020
K0338.0241084 B ENCT 1.4034 73 AES w 10M20x1,533 74 281225 10 22 30 2,8 15 34
BlA AEl Zt RAL 3020
K0338.0241284 B EN=T 1.4034 Pk MES w 12M20x1,533 78 281425 12 22 30 2,8 15 39
BlA AE ZH RAL 3020
K0338.0251684 B A2l 1.4034 A3t AE S w 16 M24x2 40 96 321828 16 27 36 3,2 20 46
BlA AE Z RAL 3020
K0338.12903 B EN= 14305 H|ZS Z43|M RAL 7021 3 M6x0,751431,512510 35 8 10 08 45 10
BlA AE
K0338.12004 B AE|Q 1.4305 HIZF A3|A RAL 7021 1838,5156 13 4 10 13 1 6 12
tA AE
K0338.12105 B EN= 1.4305 HIZS Z3|M RAL7021 5 M10x1 2143517715 5 13 17 1,3 5 12
A AR
K0338.12206 B ENZe 1.4305 |25t Z43|M RAL 7021 6 M12x1,52551,7208 17 6 14 19 1,8 6 14
BlA AEl
K0338.12308 B AE|el 1.4305 HIZS 43| RAL 7021 8 M16x1,533 68 261023 8 19 24 23 15 35
Bla AE
K0338.12410 B AE|Ql 1.4305 HIZE Z43|M RAL 7021 10M20x1,533 74 281225 10 22 30 28 15 34
tilA AE]
K0338.12412 B AE|0l 1.4305 H|ZS Z43|M RAL 7021 12M20x1,533 78 281425 12 22 30 28 15 39
flA AR
K0338.12516 B EN= 1.4305 H|ZHE 3| RAL 7021 16 M24x2 40 96 321828 16 27 36 32 20 46
tA AE
K0338.1290384 B AE|Q 14305 HIZS AEE w 3 M6x0,751431,512510 35 8 10 0,8 45 10
BlA AE Zt RAL 3020
K0338.1200484 B PN 1.4305 H|ZGE Mz S W 1838,515613 4 10 13 1 6 12
BlA AEl Zt RAL 3020
K0338.1210584 B ENCT 1.4305 H|ZE AES w 5 M10x1 2143517715 5 13 17 1,3 5 12
A AEl Zt RAL 3020
© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com  5/12



=ZalAEI] A3 Ool= AElI =SS AFIIO A ClIA =
ZCAE HAE J8l0] Q= AE =2 AH|QlgA oA E21X
E= 29
z2Hs E 22X ME A EH A AL D D1 D2 L L1L2L3 2E SW1SW2 Fx Al Ebd
&l B 7 7|8 = 23 30° EBe B=
S F1 F2
ok N 29f N
K0338.1220684 B ENCTET 14305 H|ZES ME 5w 6 M12x1,52551,720817 6 14 19 1.8 6 14
A AE Z RAL 3020
K0338.1230884 B AE|QI 1.4305 H[Zs S5 w 8 M16x1,533 68 261023 8 19 24 23 15 35
A AE Z RAL 3020
K0338.1241084 B AH|QI 1.4305 H[Zs AMNSE w 10M20x1,533 74 281225 10 22 30 2,8 15 34
A AR Z RAL 3020
K0338.1241284 B AH|QI 1.4305 H|ZE M E W 12M20x1,533 78 281425 12 22 30 2,8 15 39
A AR ZH RAL 3020
K0338.1251684 B AH|QI 1.4305 H|ZBst S5 w 16 M24x2 40 96 321828 16 27 36 3,2 20 46
BlA AR A AL 3020
K0338.62903 B AH|QI 14404 LA E Z43|M RAL 7021 3 M6x0,751431,512510 35 8 10 08 3 6,5
BlAa AE Zlo|E
K0338.62004 B AH|QI 14404 LA E 3|M RAL7021 4 M8x1 1838,515613 4 10 13 1 7 15,5
A AE o=
K0338.62105 B EN=d 14404 LA E ZS|M RAL7021 5 M10x1 2143,517715 5 13 17 1,3 4 12,5
BlA AE Zo|E
K0338.62206 B AH|Ql 14404 LA E ZAs|M RAL 7021 6 M12x1,52551,720817 6 14 19 1.8 7 14,5
& AE fiolE
K0338.62308 B AH|QI 14404 LUZAE Z3|AM RAL 7021 8 M16x1,533 68 261023 8 19 24 23 15 35
oA AE! do|E
K0338.62410 B AH|QI 14404 LUZAE Z3|AM RAL 7021 10M20x1,533 74 281225 10 22 30 28 15 30
oA AE! dlo|E
K0338.62412 B AH|QI 14404 LUZAE Z3|M RAL 7021 12M20x1,533 78 281425 12 22 30 28 15 39
BlAa A glolE
K0338.62516 B AH|QI 14404 LA E Z3|M RAL 7021 16 M24x2 40 96 321828 16 27 36 3,2 20 40
A AE Zo|E
K0338.6290384 B AH|Ql 14404 LA E S5 w 3 M6x0,751431,512510 35 8 10 0,8 3 6,5
BlA AE Zo|E Z RAL 3020
K0338.6200484 B AH|Ql 14404 LA E pMES 4 M8sx1 1838515613 4 10 13 1 7 15,5
A AE Zo|E Z RAL 3020
K0338.6210584 B AH|QI 14404 UZAEZ S5 w 5 M10x1 2143517715 5 13 17 1,3 4 12,5
A AR o= ZH RAL 3020
K0338.6220684 B AH|QI 14404 LUZAE S E w 6 M12x1,52551,7208 17 6 14 19 1,8 7 14,5
A AR o= ZH RAL 3020
K0338.6230884 B AH|QI 14404 LUZAE NEASR ) 8 M16x1,533 68 261023 8 19 24 23 15 35
A AR go|E ZH RAL 3020
K0338.6241084 B AH|QI 14404 LA E ME S wh 10M20x1,533 74 281225 10 22 30 2.8 15 30
dla A8 glolE Z RAL 3020
K0338.6241284 B AH|QI 14404 LA E MEE w 12M20x1,533 78 281425 12 22 30 2,8 15 39
A AE Zo|E Z RAL 3020
K0338.6251684 B AH|Ql 14404 LA E A5 w 16 M24x2 40 96 321828 16 27 36 3,2 20 40
A AE Zo|E Z RAL 3020
K0338.72903 B AH|QI 1.4404 KX 3| RAL 7021 3 M6x0,751431,512510 35 8 10 0,8 3 6,5
A AE ot
K0338.72004 B AH|QI 1.4404 KM Z3|M RAL7021 4 M8x1 1838,515613 4 10 13 1 7 15,5
oA AE! ot 2|
K0338.72105 B AH|QI 1.4404  K}I™ Z3|M RAL7021 5 M10x1 2143,517715 5 13 17 1,3 4 12,5
oA AE! o2
K0338.72206 B AH|QI 1.4404  KtI™ ZA3|M RAL 7021 6 M12x1,52551,720817 6 14 19 1.8 7 14,5
oA AE o2
K0338.72308 B AH|QI 1.4404  AtA™ 3| RAL 7021 8 M16x1,533 68 261023 8 19 24 23 15 35
A AR o2
K0338.72410 B AH|Ql 1.4404  Atod™ 3| RAL 7021 10M20x1,533 74 281225 10 22 30 28 15 30
A AE ot 2|
K0338.72412 B EN= 1.4404  AIX 3| RAL 7021  12M20x1,533 78 281425 12 22 30 28 15 39
& AE ot 2|
K0338.72516 B AH|QI 1.4404 KM Z3|AM RAL 7021 16 M24x2 40 96 321828 16 27 36 32 20 40
oA AE! ot 2|
K0338.7290384 B AH|QI 1.4404  K}I™ S E W 3 M6x0,751431,512510 35 8 10 08 3 6,5
gla AR o2 ZH RAL 3020
K0338.7200484 B AH|QI 1.4404  K}I™ S S W 4 M8x1 1838,515613 4 10 13 1 7 15,5
Bla AR o=l Z RAL 3020
K0338.7210584 B AH|QI 1.4404  Ktoi™ MEE 5 M10x1 2143,517715 5 13 17 1,3 4 12,5
BlA A obR 2| ZH RAL 3020
© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com  6/12



=ZalAEI] A3 Ool= AElI =SS AFIIO A O|lcdlA =
ZCIAE HAIE T80 = AE =2 AH|QlgA olHA Z81K
EZS 29
z2Hs E 22X ME A EH A AL D D1 D2 L L1L2L3 2E SW1SW2 Fx Al Ebd
&l B 7 7|8 = 23 30° Bty B=
S F1 F2
oF N 29N
K0338.7220684 B ENETE 1.4404  R}Oi%] AMSE 6 M12x1,52551,7208 17 6 14 19 1,8 7 14,5
Bla A oFE 2 Z RAL 3020
K0338.7230884 B ESC 1.4404  R}Oi%] AMESE W 8 M16x1,533 68 261023 8 19 24 23 15 35
BlA AR oFF 2l Z RAL 3020
K0338.7241084 B = 1.4404  RpQd% M E 10M20x1,533 74 281225 10 22 30 28 15 30
Bla A otF 2l Z RAL 3020
K0338.7241284 B EN= 1.4404  K}Qi%] AEE w 12M20x1,533 78 281425 12 22 30 2,8 15 39
Bla AE ot 2l ZF RAL 3020
K0338.7251684 B EN= 1.4404  K}Qi% X 16 M24x2 40 96 321828 16 27 36 3,2 20 40
Bla A8 o=l ZH RAL 3020
K0338.3903 C AE - Ast 43| RAL 7021 3 M6x0,751431,512510 35 8 - 08 45 10
K0338.3004 C AE - Ast Z3|M RAL7021 4 M8x1 1838515613 4 10 - 1 6 12
K0338.3105 C AEl - A3 HE|M RAL7021 5 M10x1 2143517715 5 13 - 13 5 12
K0338.3206 C AEl - Ast Z43|M RAL 7021 6 M12x1,52551,7208 17 6 14 - 18 6 14
K0338.3308 C AEl - PEE 43| RAL 7021 8 M16x1,533 68 261023 8 19 - 23 15 35
K0338.3410 C AEl - st 3| RAL 7021 10M20x1,533 74 281225 10 22 - 28 15 34
K0338.3412 C AE - Ast 43| RAL 7021 12M20x1,533 78 281425 12 22 - 28 15 39
K0338.3516 C AEl - A3t 3| RAL 7021 16 M24x2 40 96 321828 16 27 - 32 20 46
K0338.390384 C AEl - PEET AE S wh 3 M6x0,751431,512510 35 8 - 0,8 45 10
Z RAL 3020
K0338.300484 C AEl - Z#st AE 5 wh 4 M8x1 1838515613 4 10 - 1 6 12
Z RAL 3020
K0338.310584 C A€l - PEE AEE w 5 M10x1 2143517715 5 13 - 13 5 12
Z RAL 3020
K0338.320684 C AE - ast AEE w 6 M12x1,52551,7208 17 6 14 - 18 6 14
Zt RAL 3020
K0338.330884 C AE - Ast :di% ) 8 M16x1,533 68 261023 8 19 - 23 15 35
Z+ RAL 3020
K0338.341084 C AEl - Ast ;*_li% ) 10M20x1,533 74 281225 10 22 - 2,8 15 34
Z+ RAL 3020
K0338.341284 C AE - PEET ;/*_l_?_% ) 12M20x1,533 78 281425 12 22 - 2,8 15 39
ZH RAL 3020
K0338.351684 C AEl - FEE f_l_?_% it 16 M24x2 40 96 321828 16 27 - 32 20 46
Z RAL 3020
K0338.03903 C EN=T 1.4034 PEE Z43|M RAL 7021 3 M6x0,751431,512510 35 8 - 08 45 10
BlA AE
K0338.03004 C EN= 1.4034 a3t Z3|M RAL 7021 4 M8x1 1838515613 4 10 - 1 6 12
tA AE
K0338.03105 C EN=e 1.4034 A3t Z3|M RAL7021 5 M10x1 2143517715 5 13 - 1,3 5 12
A AE
K0338.03206 C AH|Ql 1.4034 A5t Z43|M RAL 7021 6 M12x1,52551,7208 17 6 14 - 18 6 14
BlA AEl
K0338.03308 C ENCT 1.4034 235t 43| RAL 7021 8 M16x1,533 68 261023 8 19 - 23 15 35
Bla A
K0338.03410 C EN=T 1.4034 Pk Z3|M RAL 7021 10M20x1,533 74 281225 10 22 - 28 15 34
oA AE]
K0338.03412 C AE| Q! 1.4034 PEE 3| RAL 7021 12M20x1,533 78 281425 12 22 - 28 15 39
flA AR
K0338.03516 C EN= 1.4034 A3t 3| RAL 7021 16 M24x2 40 96 321828 16 27 - 32 20 46
tA AE
K0338.0390384 C EN=e 1.4034 A3t AEE w 3 M6x0,751431,512510 35 8 - 08 45 10
BlA AE ZH RAL 3020
K0338.0300484 C AH|Ql 1.4034 A5t M5 w 4 M8x1 1838515613 4 10 - 1 6 12
BlA AEl ZH RAL 3020
K0338.0310584 C ENCT 1.4034 A3t AEE W 5 M10x1 2143517715 5 13 - 1,3 5 12
A AEl Zt RAL 3020
K0338.0320684 C AH|Q! 1.4034 PEE A5 w 6 M12x1,52551,7208 17 6 14 - 18 6 14
BlA AE Z RAL 3020
K0338.0330884 C AE|Ql 1.4034 PEE MSE w 8 M16x1,533 68 261023 8 19 - 23 15 35
BlA AE Z RAL 3020
K0338.0341084 C AE|Q! 1.4034 PEET AEE w 10M20x1,533 74 281225 10 22 - 28 15 34
BlA AE Z RAL 3020
K0338.0341284 C AE|Ql 1.4034 A3t AEE w 12M20x1,533 78 281425 12 22 - 2,8 15 39
BlA AEl ZH RAL 3020
© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com  7/12



=ZalAEI] A3 Ool= AElI =SS AFIIO A O|lcdlA =
ZCIAE HAIE T80 = AE =2 AH|QlgA olHA Z81K
Z= 29
z2Hs E 22X ME A EH A AL D D1 D2 L L1L2L3 2E SW1SW2 Fx Al Ebd
&l g7 78 = 23 30° EtY B
S F1 F2
oF N 9k N
K0338.0351684 C ENETE 1.4034 FZE A S w 16 M24x2 40 96 321828 16 27 3,2 20 46
BlA AE Z RAL 3020
K0338.13903 C AE|Ql 1.4305 H|ZE Z3|M RAL 7021 3 M6x0,751431,512510 35 8 08 45 10
HA AE
K0338.13004 C EN=] 14305 H|ZS 3|4 RAL7021 4 M8x1 1838515613 4 10 1 6 12
A AE
K0338.13105 C AE|Q! 1.4305 HIZHS ZA3|A RAL7021 5 M10x1 2143517715 5 13 1,3 5 12
tA AE
K0338.13206 C EN= 14305 HIZS 43| RAL 7021 6 M12x1,52551,720817 6 14 1,8 6 14
A AE
K0338.13308 C ENZT 1.4305 HIZE 3|4 RAL 7021 8 M16x1,533 68 261023 8 19 2,3 15 35
BlA AE
K0338.13410 C AE|el 1.4305 HIZS 43| RAL 7021  10M20x1,533 74 281225 10 22 2,8 15 34
Bla AR
K0338.13412 C AE{Ql 14305 H|Zs 5|4 RAL 7021 12M20x1,533 78 281425 12 22 2,8 15 39
HA AE
K0338.13516 C AE|Ql 14305 H|ZS 3|4 RAL 7021 16 M24x2 40 96 321828 16 27 32 20 46
flA A
K0338.1390384 C AE|Ql 1.4305 H|ZHE AE 5 w 3 M6x0,751431,512510 35 8 0,8 45 10
A AR Zt RAL 3020
K0338.1300484 C EN= 1.4305 HIZE AES 4 M8x1 1838,515613 4 10 1 6 12
BlA AE Zt RAL 3020
K0338.1310584 C ENZ 1.4305 H|Z3 AESE w 5 M10x1 2143517715 5 13 1,3 5 12
A AE Zt RAL 3020
K0338.1320684 C AE|Ql 1.4305 HIZS AES w 6 M12x1,52551,7208 17 6 14 1,8 6 14
BlA AE Zt RAL 3020
K0338.1330884 C AE{0l 1.4305 |75t AES w 8 M16x1,533 68 261023 8 19 2,3 15 35
BlA AE Z RAL 3020
K0338.1341084 C AH|QI 1.4305 H|Z3 MSE w 10M20x1,533 74 281225 10 22 2,8 15 34
BlA AE Z RAL 3020
K0338.1341284 C AE|Q! 1.4305 HIZS AEE w 12M20x1,533 78 281425 12 22 2,8 15 39
BlA AR Zt RAL 3020
K0338.1351684 C AE|Q 1.4305 HI[ZE MBS 16 M24x2 40 96 321828 16 27 32 20 46
A AE Zt RAL 3020
K0338.63903 C AE|Q! 14404 LA EZ 3|4 RAL 7021 3 M6x0,751431,512510 35 8 0,8 3 6,5
tA AE] H|o|E
K0338.63004 C ENCT 1.4404 L|Z ZA35|M RAL7021 4 M8x1 1838515613 4 10 1 7 15,5
gla AE! tilo|E
K0338.63105 C ENCT 1.4404 LA Z ZA3|M RAL7021 5 M10x1 2143517715 5 13 1,3 4 12,5
BlA AE glo|E
K0338.63206 C ESC 14404 LIHZ 5|4 RAL 7021 6 M12x1,52551,720817 6 14 1,8 7 14,5
HA AE go|E
K0338.63308 C EN=T 1.4404 LA Z Z43|M RAL 7021 8 M16x1,533 68 261023 8 19 2,3 15 35
BlA AE HolE
K0338.63410 C AE|Q! 14404 LA EZ 3|4 RAL 7021 10M20x1,533 74 281225 10 22 2,8 15 30
oA AE! dlo|E
K0338.63412 C EN= 14404 LA EZ ZA35|AM RAL 7021  12M20x1,533 78 281425 12 22 2,8 15 39
BlA AE Bo|E
K0338.63516 C ENZe 14404 LA EZ 3|4 RAL 7021 16 M24x2 40 96 321828 16 27 32 20 40
dla AE tolE
K0338.6390384 C PN 14404 LUZE AME S w 3 M6x0,751431,512510 3,5 8 0,8 3 6,5
Bla AE glolE Z RAL 3020
K0338.6300484 C ESC 14404 LIHZ MBS 4 M8x1 1838515613 4 10 1 7 15,5
glA AE glolE Z RAL 3020
K0338.6310584 C AE|Ql 14404 LIHZ AE S w 5 M10x1 2143517715 5 13 1,3 4 12,5
BlA AE golE Z RAL 3020
K0338.6320684 C EN= 14404 LA EZ AEE w 6 M12x1,52551,7208 17 6 14 1,8 7 14,5
A AE Ho|E Zt RAL 3020
K0338.6330884 C EN=e 14404 LA EZ X 8 M16x1,533 68 261023 8 19 2,3 15 35
BA AE Ho|E Zt RAL 3020
K0338.6341084 C ENZe 14404 LA EZ AESE W 10M20x1,533 74 281225 10 22 2,8 15 30
BlA AE #o|E Z RAL 3020
K0338.6341284 C ENCT 14404 LIHZ AES w 12M20x1,533 78 281425 12 22 2,8 15 39
Bla AR glolE Z RAL 3020
© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com  8/12



=ZalAEI] A3 Ool= AElI =SS AFIIO A O|lcdlA =
ZCIAE HAIE T80 = AE =2 AH|QlgA olHA Z81K
Z= 29
z2Hs E 22X ME A EH A AL D D1 D2 L L1L2L3 2E SW1SW2 Fx Al Ebd
&l g7 78 = 23 30° EtY B
S F1 F2
ok N 2N
K0338.6351684 C AE0] 14404 LA E AMSE 16 M24x2 40 96 321828 16 27 - 32 20 40
BlA AE glo|E ZH RAL 3020
K0338.73903 C AE|0l 1.4404  X}oiX Z43|M RAL 7021 3 M6x0,751431,512510 35 8 - 08 3 6,5
BlA AE iR
K0338.73004 C EN=] 1.4404  X}Qi%] Z43|M RAL 7021 4 M8x1 1838515613 4 10 - 1 7 15,5
BlA AE i[E=E=]
K0338.73105 C AE|QI 1.4404  K}Qi%] Z3|M RAL7021 5 M10x1 2143517715 5 13 - 1,3 4 12,5
oA AE! ot 2|
K0338.73206 C EN=e 1.4404  Xtoix] Z3|M RAL 7021 6 M12x1,52551,720817 6 14 - 18 7 14,5
oA AE! ot 2|
K0338.73308 C PN 1.4404  X}oix] 43| RAL 7021 8 M16x1,533 68 261023 8 19 - 23 15 35
oA AE! ot 2|
K0338.73410 C ENCT 1.4404  X}oix 43| M RAL 7021  10M20x1,533 74 281225 10 22 - 28 15 30
A AEl otF 2l
K0338.73412 C AE|0l 1.4404  KpQi%d 5| RAL 7021 12M20x1,533 78 281425 12 22 - 28 15 39
HA AE [l
K0338.73516 C AE|Q! 1.4404  RpQI%] 3| RAL 7021 16 M24x2 40 96 321828 16 27 - 32 20 40
& AE otF 2|
K0338.7390384 C EN= 1.4404  Xtoix AEE w 3 M6x0,751431,512510 35 8 - 0,8 3 6,5
gla A otF 2| ZH RAL 3020
K0338.7300484 C EN= 1.4404 XX AEE w 4 M8x1 1838515613 4 10 - 1 7 15,5
gla AR o2 ZH RAL 3020
K0338.7310584 C ENZ 1.4404  Xtoix] A5 w 5 M10x1 2143517715 5 13 - 1,3 4 12,5
Bla AE o2 ZH RAL 3020
K0338.7320684 C ENCT 1.4404  X}oix AMEE 6 M12x1,52551,7208 17 6 14 - 18 7 14,5
gla AR oFF 2 Zt RAL 3020
K0338.7330884 C A0l 1.4404  KpQi%d AMSE w 8 M16x1,533 68 261023 8 19 - 23 15 35
BlA A oFF 2l ZH RAL 3020
K0338.7341084 C AE|Ql 1.4404  RpQI%] MSE w 10M20x1,533 74 281225 10 22 - 28 15 30
Bla AE otF 2l Z RAL 3020
K0338.7341284 C AE|QI 1.4404  RpQI%] AEE w 12M20x1,533 78 281425 12 22 - 28 15 39
Bla A oFF 2l ZH RAL 3020
K0338.7351684 C EN= 1.4404  Xtoix AEE w 16 M24x2 40 96 321828 16 27 - 32 20 40
gla AR otF 2| ZH RAL 3020
K0338.4903 D AE - A3t 43| RAL 7021 3 M6x0,751431,512510 35 8 10 0,8 45 10
K0338.4004 D AEl - PEE Z43|M RAL 7021 4 M8x1 1838515613 4 10 13 1 6 12
K0338.4105 D AEl - 235t 3| RAL 7021 5 M10x1 2143517715 5 13 17 1,3 5 12
K0338.4206 D AE - A3t 3| RAL 7021 6 M12x1,52551,7208 17 6 14 19 1,8 6 14
K0338.4308 D AEl - PEE Z43|M RAL 7021 8 M16x1,533 68 261023 8 19 24 23 15 35
K0338.4410 D AEl - 235t 43| RAL 7021  10M20x1,533 74 281225 10 22 30 28 15 34
K0338.4412 D A8 - A3t 3| RAL 7021 12M20x1,533 78 281425 12 22 30 28 15 39
K0338.4516 D AE - PEL Z43|M RAL 7021 16 M24x2 40 96 321828 16 27 36 32 20 46
K0338.490384 D AEl - ast AMSE 3 M6x0,751431,512510 35 8 10 08 45 10
ZH RAL 3020
K0338.400484 D A&l - PEET AE 5 wh 4 M8x1 1838515613 4 10 13 1 6 12
Z RAL 3020
K0338.410584 D AEl - PEE AE S w 5 M10x1 2143517715 5 13 17 1,3 5 12
Z RAL 3020
K0338.420684 D AE - Ast AEE w 6 M12x1,52551,7208 17 6 14 19 1,8 6 14
ZH RAL 3020
K0338.430884 D AE - ast AEE w 8 M16x1,533 68 261023 8 19 24 23 15 35
Zt RAL 3020
K0338.441084 D AE - Ast M5 w 10M20x1,533 74 281225 10 22 30 2,8 15 34
Zt RAL 3020
K0338.441284 D AEl - A3t AEE W 12M20x1,533 78 281425 12 22 30 2,8 15 39
Zt RAL 3020
K0338.451684 D AEl - a3t MESE wr 16 M24x2 40 96 321828 16 27 36 3,2 20 46
Z RAL 3020
K0338.04903 D AE|Q! 1.4034 A&t %M RAL 7021 3 M6x0,751431,512510 3,5 8 10 08 45 10
flA AR
K0338.04004 D AE|QI 1.4034 PEET Z43|M RAL 7021 4 M8x1 1838515613 4 10 13 1 6 12
tA AE
K0338.04105 D EN= 1.4034 A3t ZA3|M RAL7021 5 M10x1 2143517715 5 13 17 1,3 5 12
tA AE
© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com  9/12



=ZalAEI] A3 Ool= AElI =SS AFIIO A O|lcdlA =
ZCIAE HAIE T80 = AE =2 AH|QlgA olHA Z81K
=EROI:
=/ =
z2Hs E 22X ME A EH A AL D D1 D2 L L1L2L3 2E SW1SW2 Fx Al Ebd
&l B 7 7|8 = 23 30° Bty B=
S F1 F2
ok N 2N
K0338.04206 D AE0] 1.4034 EED ZA3|M RAL 7021 6 M12x1,52551,7208 17 6 14 19 1,8 6 14
BlA AE
K0338.04308 D AE|Ql 1.4034 PEE 3| RAL 7021 8 M16x1,533 68 261023 8 19 24 23 15 35
HA AE
K0338.04410 D EN=] 1.4034 PEET 3| RAL 7021  10M20x1,533 74 281225 10 22 30 2,8 15 34
BlA AE
K0338.04412 D AE|Q! 1.4034 Qs ZA35|A4 RAL 7021 12M20x1,533 78 281425 12 22 30 28 15 39
tA AE
K0338.04516 D EN=e 1.4034 7@ 3|4 RAL 7021 16 M24x2 40 96 321828 16 27 36 32 20 46
A AE
K0338.0490384 D ENZT 1.4034  As AESE W 3 M6x0,751431,512510 35 8 10 0,8 45 10
BlA AE Zt RAL 3020
K0338.0400484 D AH|Ql 1.4034 33t AMESE 4 M8x1 1838,515613 4 10 13 1 6 12
BlA AE Z+ RAL 3020
K0338.0410584 D ESC 1.4034 Zast AMSE w 5 M10x1 2143517715 5 13 17 1,3 5 12
glA AE Z RAL 3020
K0338.0420684 D AE|Ql 1.4034 PEE MSE w 6 M12x1,52551,7208 17 6 14 19 1,8 6 14
BlA AE Z RAL 3020
K0338.0430884 D AE|Ql 1.4034 Qs AEE w 8 M16x1,533 68 261023 8 19 24 23 15 35
A AR ZH RAL 3020
K0338.0441084 D EN= 1.4034 7@ AESE w 10M20x1,533 74 281225 10 22 30 2.8 15 34
BlA AE Zt RAL 3020
K0338.0441284 D ENZ 14034 73 AESE w 12M20x1,533 78 281425 12 22 30 28 15 39
A AE Zt RAL 3020
K0338.0451684 D ENCT 1.4034 73 AES w 16 M24x2 40 96 321828 16 27 36 32 20 46
BlA AE Zt RAL 3020
K0338.14903 D EN = 1.4305 |33t 4% RAL 7021 3 M6x0,751431,512510 3,5 8 10 08 45 10
BlA AE
K0338.14004 D AE|QI 1.4305 H|Z3 Z3|M RAL 7021 4 M8x1 1838515613 4 10 13 1 6 12
flA AR
K0338.14105 D AE|Q! 1.4305 H|ZE ZA3|M RAL7021 5 M10x1 2143517715 5 13 17 1,3 5 12
tA AE
K0338.14206 D AH|Ql 1.4305 HIZF 3| RAL 7021 6 M12x1,52551,720817 6 14 19 1,8 6 14
tA AE
K0338.14308 D AE|Q 1.4305 HIZS 43| RAL 7021 8 M16x1,533 68 261023 8 19 24 23 15 35
A AE
K0338.14410 D ENCT 1.4305 HIZE 3|4 RAL 7021 10M20x1,533 74 281225 10 22 30 28 15 34
Bla AE
K0338.14412 D AE|el 1.4305 HIZS 43| RAL 7021 12M20x1,533 78 281425 12 22 30 28 15 39
BlA AE
K0338.14516 D AE|QI 1.4305 H|ZE Z3|M RAL 7021 16 M24x2 40 96 321828 16 27 36 32 20 46
HA AE
K0338.1490384 D EN=T 1.4305 H|ZE AEE w 3 M6x0,751431,512510 35 8 10 0,8 45 10
A AE Z RAL 3020
K0338.1400484 D AE|Q! 1.4305 H|ZHS AE 5 w 4 M8x1 1838515613 4 10 13 1 6 12
BA AE ZH RAL 3020
K0338.1410584 D EN= 1.4305 HIZE X 5 M10x1 2143517715 5 13 17 1,3 5 12
A AEl Zt RAL 3020
K0338.1420684 D ENZe 1.4305 |25t AEE W 6 M12x1,52551,7208 17 6 14 19 1,8 6 14
BlA AE Zt RAL 3020
K0338.1430884 D AE|el 1.4305 HIZS AES w 8 M16x1,533 68 261023 8 19 24 23 15 35
BlA AE ZH RAL 3020
K0338.1441084 D AE|Q 1.4305 H|ZE AMSE w 10M20x1,533 74 281225 10 22 30 2,8 15 34
glA AE Z RAL 3020
K0338.1441284 D AE|QI 1.4305 H|ZS AE S w 12M20x1,533 78 281425 12 22 30 28 15 39
BlA AE Z RAL 3020
K0338.1451684 D EN= 1.4305 H|ZHE AE 5 w 16 M24x2 40 96 321828 16 27 36 3,2 20 46
A AE ZH RAL 3020
K0338.64903 D EN=e 1.4404 LI ZA35|A4 RAL 7021 3 M6x0,751431,512510 35 8 10 08 3 6,5
tilA AE! dlo|E
K0338.64004 D ENZe 14404 LA EZ ZH43|M RAL7021 4 M8x1 1838515613 4 10 13 1 7 15,5
Bla AR glolE
K0338.64105 D fE“O“|| 1.4404 IE%% AH3|M RAL7021 5 M10x1 2143517715 5 13 17 1,3 4 12,5
A AEl o|E
© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com  10/12



=ZalAEI] A3 Ool= AElI =SS AFIIO A O|lcdlA =
ZCIAE HAIE T80 = AE =2 AH|QlgA olHA Z81K
Z= 29
z2Hs E 22X ME A EH A AL D D1 D2 L L1L2L3 2E SW1SW2 Fx Al Ebd
&l g7 78 = 23 30° Bty B=
S F1 F2
oF N 29N
K0338.64206 D AE0] 14404 LIAZ ZA3|M RAL 7021 6 M12x1,52551,7208 17 6 14 19 1,8 7 14,5
BlA AE glo|E
K0338.64308 D A2l 14404 LUZAZ Z15|M RAL 7021 8 M16x1,533 68 261023 8 19 24 23 15 35
HA AE go|E
K0338.64410 D AE|Ql 1.4404 LA Z 3| RAL 7021  10M20x1,533 74 281225 10 22 30 2,8 15 30
tilA AE! glo|E
K0338.64412 D EN= 14404 LA EZ 3| RAL 7021 12M20x1,533 78 281425 12 22 30 28 15 39
oA AE! dlo|E
K0338.64516 D EN=e 14404 LA EZ 3| RAL 7021 16 M24x2 40 96 321828 16 27 36 32 20 40
BlA AEl glolE
K0338.6490384 D ENZT 14404 LA EZ AESE W 3 M6x0,751431,512510 35 8 10 0,8 3 6,5
A AE glolE Z+ RAL 3020
K0338.6400484 D A2l 14404 LUZE pME S w 4 M8x1 1838515613 4 10 13 1 7 15,5
Bla AR glolE Z+ RAL 3020
K0338.6410584 D ESC 14404 LIHZ AMSE w 5 M10x1 2143517715 5 13 17 1,3 4 12,5
BlA AEl #lolE Z RAL 3020
K0338.6420684 D AE|Ql 14404 LIHZ MSE w 6 M12x1,52551,7208 17 6 14 19 1,8 7 14,5
BlA AE #lolE Z RAL 3020
K0338.6430884 D EN= 14404 LA EZ AEE w 8 M16x1,533 68 261023 8 19 24 23 15 35
BlA AE #lolE ZH RAL 3020
K0338.6441084 D EN= 14404 LA EZ AESE w 10M20x1,533 74 281225 10 22 30 2,8 15 30
BlA AEl #olE Zt RAL 3020
K0338.6441284 D ENZ 14404 LA Z AESE w 12M20x1,533 78 281425 12 22 30 2,8 15 39
BlA AEl glolE Zt RAL 3020
K0338.6451684 D ENCT 14404 LIHZ AES w 16 M24x2 40 96 321828 16 27 36 3,2 20 40
gla AR glolE Z+ RAL 3020
K0338.74903 D AE|Ql 1.4404  R}Oi%] Z35|M RAL 7021 3 M6x0,751431,512510 35 8 10 08 3 6,5
BlA AE ot 2|
K0338.74004 D EN=T 1.4404  RpQI%] Z43|M RAL 7021 4 M8x1 1838515613 4 10 13 1 7 15,5
& AE] otF 2|
K0338.74105 D AE|Ql 1.4404  Xtix] ZA3|M RAL7021 5 M10x1 2143517715 5 13 17 1,3 4 12,5
tilA AE] ot 2|
K0338.74206 D EN= 1.4404  Xtoix Z3|M RAL 7021 6 M12x1,52551,720817 6 14 19 1,8 7 14,5
tilA AE! ot 2|
K0338.74308 D AE|Q! 1.4404  Xtoix 43| RAL 7021 8 M16x1,533 68 261023 8 19 24 23 15 35
oA AE! ot 2|
K0338.74410 D ENCT 1.4404  R}Oi%] 43| RAL 7021  10M20x1,533 74 281225 10 22 30 28 15 30
BlA AEl oFS 2l
K0338.74412 D ENCT 1.4404  X}oix 43| RAL 7021 12M20x1,533 78 281425 12 22 30 28 15 39
BlA AE =]
K0338.74516 D el 1.4404  XtiX Z43|M RAL 7021 16 M24x2 40 96 321828 16 27 36 32 20 40
BlA AE i[E=E]
K0338.7490384 D AE|Q! 1.4404  R}Qd% M E 3 M6x0,751431,512510 3,5 8 10 0,8 3 6,5
Bla A o= 2| Z RAL 3020
K0338.7400484 D EN= 1.4404  Xtoix AE 5 w 4 M8x1 1838515613 4 10 13 1 7 15,5
gla AE ot 2l ZH RAL 3020
K0338.7410584 D EN= 1.4404  Xtoix] X 5 M10x1 2143517715 5 13 17 1,3 4 12,5
Bla AE o=l ZH RAL 3020
K0338.7420684 D ENZe 1.4404  Xtoix] AEE W 6 M12x1,52551,7208 17 6 14 19 1,8 7 14,5
A A oHF 2| Z RAL 3020
K0338.7430884 D EN=e 1.4404  R}Oi%] AMESE 8 M16x1,533 68 261023 8 19 24 23 15 35
Bla AE ot el ZH RAL 3020
K0338.7441084 D ESC 1.4404  X}oix AMSE w 10M20x1,533 74 281225 10 22 30 28 15 30
BlA AR ot el Z RAL 3020
K0338.7441284 D AE|0l 1.4404  AFQi%d AE 5 wh 12M20x1,533 78 281425 12 22 30 2,8 15 39
Bla A ot 2l Z RAL 3020
K0338.7451684 D EN= 1.4404  Xtoix AE 5 w 16 M24x2 40 96 321828 16 27 36 3,2 20 40
gla A o+ 2| ZH RAL 3020
© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com  11/12



or

or
Hio

12/12

www.kipp.com - info@kipp.com

© HEINRICH KIPP WERK GmbH & Co. KG



